CLASS : 12th (Sr. Secondary) Code No. 2210
Series : SS/Annual Exam.-2025

Roll No. SET : A

AT

ACCOUNTANCY
[ Hindi and English Medium |
ACADEMIC/OPEN
(Only for Fresh/Re-appear/Improvement/Additional Candidates)

Time allowed : 8 hours | [ Maximum Marks : 60

o PV AT B T ¥ 5T FoT-97 7 JRT JT 24 T §97 38 (22 + 8 + 8) &

Please make sure that the printed pages in this question paper are 24 in number
and it contains 38 (22 + 8 + 8) questions.

o Jo7-7H ¥ e & @ G RF T FS THT Tl f H OH FI-Yikaw F FEI-g8 9
gy

The Code No. and Set on the right side of the question paper should be written by
the candidate on the front page of the answer-book.

o FYF J9T H TV [TGT Y& V7§ Yeer, 9T B B AT [7E]

Before beginning to answer a question, its Serial Number must be written.
o FUT-YitTHE & = H @l §,/9 7 881

Don’t leave blank page/pages in your answer-book.

o FT-YRTHE B SIRFT FF o de Tel R o SEvIRagar & @ st frar Fav T
FIC]

Except answer-book, no extra sheet will be given. Write to the point and do not
strike the written answer.
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(2) 2210/(Set : A)

o TR T AT To JeT-UH G Haed [@ T To & SARFT FIT-YH YU o 8 A T
g siie defcy® 7ot & IR T Fbd ST F 9T T

Candidates must write their Roll No. on the question paper. Except Roll No. do not

write anything on question paper and don't make any mark on answers of objective

type questions.

o U F97 % FUT 37 @ {4 & GhlEd FY @ [ Fe7-0F {7 T 78 8, e # I 59
T 7 g 4 qar w&hHe T8 RAr aam

Before answering the questions, ensure that you have been supplied the correct and
complete question paper, no claim in this regard, will be entertained after
examination.

A 3T -
(i) T8 Fo7-97 T 9 7 e & -

G - 3 : @EERT B G FUT B T aGET
G - § : [FhT [[aee a7 fsavn

9T - T : FYNHT AGIHT

(i) T - oF Sffard &1 gEwef o7y s @ T - § T G- T T G FE T T ET
&Y/

(iii) TH 797 T TV &

(iv) 597 G 1 § 10 T 23 & 27 7% TGS F97 &1 9% 97 1 6% & &

(v) 597 Gear 11 & 15 797 28 GIfday Iaeid 597 &1 J9% J97 2 6/% & &

(vi) 97 & 16 @ 20 T 29 TF FGT Fo7 81 JAF o7 3 3% F &

(vii) F97 T&r 21, 22 797 30 § FFNT J97 81 H9F F97 5 9F P 81

(viii) B Fe7] & SiRE [ABeY S9r=y & 87 797 H & SAYH HaA G & 597 FA &1

General Instructions :
(i) This question paper is divided into three Parts :
Part - A : Accounting for Partnership Firms & Companies.

2210/(Set : A)



(3) 2210/(Set : A)
Part - B : Analysis of Financial Statements.
Part - C : Computerized Accounting.

(i) Part — A is compulsory. Candidates have to attempt any one part from
Part - B and Part - C of their choice.

(iii) All questions are to be attempted.

(iv) Question Nos. 1 to 10 and 23 to 27 are objective type questions. Each
question carries 1 mark.

(v) Question Nos. 11 to 15 and 28 are very short answer type questions. Each
question carries 2 marks.

(Vi) Question Nos. 16 to 20 and 29 are short answer type questions. Each
question carries 3 marks.

(vii) Question Nos. 21, 22 and 30 are long answer type questions. Each question
carries 5 marks.

(viii) An internal choice is available in some questions. You have to attempt only
one of the given choice in such questions.

T - A
PART - A [M. M. : 45

(T B IR Fuivat & R i)

(Accounting for Partnership Firms & Companies)

1. “ORedslid RO’ € o9 91 g9sd 8 ¢ 1

What do you understand by "Convertible Debentures" ?

2210/(Set : A) P.T.O.



(4) 2210/(Set : A)
2. 'A' T B’ AW-B B FAF dcd gC FH A GEER & 1 B, 2024 F I AW-BM R0
4:3 % O ¥ dicd W Heud g A [ & STIAR ¥ UREwd & HROT A & @

it TRl T & fed Bnm 1
(A) R (B) T

14 14

4 3
(©) amtrriﬁr7 (D) am7

'A' and 'B' were partners in a firm sharing profit or loss equally. With effect from
1st April, 2024 they agreed to share profits in the ratio 4 : 3, due to change in

profit sharing ratio, A's gain or sacrifice will be :

(A) Gain 1 (B) Sacrifice 1
14 14
(C) Gain 4 (D) Sacrifice 3
7 7
3. Al & gfowd & B F FEX Y o<l B B 1
Shareholders get ............ as their return from the company.
4. dR@ v 8 wed § ° 1
What are Accumulated Profits ?
5. X AT AEER @A P @ TEE AR, o 39 W SRR &R Sl ST 1
(A) TN STUE H (B) TN U H
(C) T U H (D) Uit oFga &

2210/(Set : A)



(5) 2210/(Set : A)
If the new partner brings his share of goodwill in cash, it will be shared by old

partners in :
(A) Ratio of Sacrifice (B) Old Profit Sharing Ratio

(C) New Profit Sharing Ratio (D) Capital Ratio

6. o ROl /gl O s @ & iR T8 el g ok Hew qen %Y g | R
% RN & I W A B o, LE AR oL SfUg el o 2 1

The debentures/securities on which the rate of interest is not specified, instead
the difference in sale price and purchase price works as interest, such securities

are known as ............ bonds.

7. Ru T HE : GFEYT (A) T BT (R) B MUR W e faaved &1 oa+ &Y ¢ 1
AR (A) : TR | RO B TG G J SKIART el 61 S ol

PR (R) : OEER § F9T 0F @ 0@ 8, 30 AR & §6 & TAW & 96 6 e
Bl

& -

(A) SIRERA (A) STR RO (R) M T o, T BRY (R), ARERIT (A) B T&l AT el o
(B) S (A) R HR (R) AW 9 &, 3K &R (R), ST (A) 3 T2 R 2
(C) SIRFEA (A) €W &, WG @RV (R) 3T B

(D) SR (A) 3THA 8, Tg FX (R) T ol
2210/(Set : A) P.T.O.
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On the basis of given Statements : Assertion (A) & Reason (R), choose the
correct option :

Assertion (A) : Loan from partner is not transferred to realization account.

Reason (R) : Loan from partner is a outside liability. It is paid after the payment
of partner's capital.

Options :

(A) Both Assertion (A) and Reason (R) are true, but Reason (R) is not correct

explanation of Assertion (4).

(B) Both Assertion (A) and Reason (R) are true, and Reason (R) is correct

explanation of Assertion (A).

(C) Assertion (A) is true, but Reason (R) is false.

(D) Assertion (A) is false, but Reason (R) is true.

8. Ru T HFl : FRFYT (A) TN BT (R) F IR W & a1 =a+ B ¢ 1
ARBE (A) : TEER & T4 H A BH H GEGT e, g AT QRN H FHOE ol

FROT (R) : GEER & 5a9 & & A@EREN & Fed (Reconstitution) & Rrad 6 g
e aiae § T Wl & IR TF T3 dEel dRdad § o 8, Wy ®H
T, &l ol

& -

(A) S (A) IR R (R) AM1 T 8, T PR (R), SR (A) HI T 2@ T2l 2
(B) S (A) R HR (R) a9 9 & AR &R (R), S¥HEE (A) ) T8 e B
(C) ARMFET (A) TN BRI (R) I 1A 2

(D) SIRREA (A) 3T &, T R (R) T B

2210/(Set : A)



(7) 2210/(Set : A)
On the basis of given Statements : Assertion (A) & Reason (R), choose the

correct option :

Assertion (A) : Admission of a partner does not mean the dissolution of the firm

but the dissolution of the old partnership.

Reason (R) : Admission of a partner means reconstitution of the partnership so
that the old partnership ceases to exist and a new partnership
comes into existence but the firm continuous.

Options :

(A) Both Assertion (A) and Reason (R) are true, but Reason (R) is not correct

explanation of Assertion (A).

(B) Both Assertion (A) and Reason (R) are true and Reason (R) is correct

explanation of Assertion (A).
(C) Both Assertion (A) and Reason (R) are false.

(D) Assertion (A) is false, but Reason (R) is true.

9. JRREM TSf Bl B 1
(A) iR i
(B) TofrTa &

(C) T #rt g o
(D) T AFT g8 ToN 1 T8 AN S had HON & GEIGH O & AN S b ©

2210/(Set : A) P.T.O.



(8) 2210/(Set : A)
Reserve Capital is :
(A) Subscribed Capital
(B) Reserve Capital
(C) Uncalled Capital

(D) Part of uncalled capital with may be called only at the time of liquidation of
the company

10. FUoE @ Rfd ffaRor & ... w7 § R S gl 1

Debentures are shown on ............ side of the Balance Sheet.

11. 31 H/E, 2024 H T BN a@ a9 » [OC Ho FEH & ST TR 10% aqMYs X § e
P O FHINC, I IO TH (el & S 20,000 T 3 6T &l 2

Calculate the interest on drawing of Mr. Rishabh @ 10% p.a. for the year ended
31 March, 2024, if he withdrew I 20,000 in beginning of each quarter.

12. B9 % GHYT JU7 9ER & G999 § Hig @ o T it 2

Clarify any two differences between dissolution of a firm and dissolution of

partnership.

13. TF B & l¥d @9 70,000 T 8, 3G 5,000 T H TH N A9 MAA &1 FaqE ¥
faff G5t 5,50,000 3 & @& @ & WM & 10% 1 A & AR TA H SEX
M &l O hioTa| 2

A firm average profit are ¥ 70,000, it includes an abnormal profit of ¥ 5,000.
Capital invested in the business is ¥ 5,50,000 and the normal rate of return is

10%. Calculate goodwill at four times the super profit.

2210/(Set : A)



(9) 2210/(Set : A)
S|
OR

B3 @ S [ S AF-BMN M @A & hise d [l S 2

Name any two items which are shown on the credit of profit and loss
appropriation account.

14. 'A' T 'B' @EER & SN @4l B 4 : 1 & G § ared &l 'A’BN%[%T@{EH%H?JT'B'

aﬁ%@m%,'C'%qaﬁamaﬂﬁ%a‘rwwém%waﬂmﬁaﬁwwww
g ? 2

'A' and 'B' are partners sharing profit in the ratio of 4 : 1. 'A' surrenders %th of

his share and 'B' surrenders % of his share in favour of 'C', a new partner.

What is the sacrificing ratio and the new ratio ?

YqT
OR

T HEER] FH & S B AT i el @ gehl B gEEs Sl 2

List any two factors affecting goodwill of a partnership firm.

15. HEEN Gd9 & AguReld § A 8N Al dser AR @ Gl & el @ S
EIE LY 2

Mention any two provisions of the Partnership Act applicable in the absence of
Partnership Deed.

16. FfaRad ) §&9 § feuef fafag : 1x3=3
(i) <lex gaifemrR i
(i) @Rl yaifeenr S
(iii) AFTGERT JATTErbIX ST

2210/(Set : A) P.T.O.



(10) 2210/(Set : A)

Write short note on the following :
(i) Redeemable Preference Shares
(i) Cumulative Preference Shares

(iii) Participating Preference Shares

17. IR Fq FUREN 6,00,000 ¥; FA A™@ 1,00,000 3; TwfE & fopg & o afdr
4,20,000 X 1 Il @G 5,000 T &, Tl Gl SN AL A/ bl TOFT Ao 3

If total assets are I 6,00,000; total liabilities are I 1,00,000; amount realized on
sale of assets is I 4,20,000 and realization expenses are ¥ 5,000. Find out profit

or loss by making Realization A/c.

18. 'X' fifo & T 'Y’ o ¥ & 9,90,000 & J&H YA &I TRl H Bl TE TAM g5
f 100 X drt 11% RO & FOHT &0 % od H P 61 ST 98 HiY & Rors
(i) TE W, (ii) 10% Hfrem w® Frifra B e smawes s sfaftedt i) 3

'X' Ltd. Company purchase assets of the book value of ¥ 9,90,000 from 'Y' Ltd.
Company. It was agreed that the purchase consideration be paid issuing 11%
Debentures of 100 ¥ each. Assume that the Debentures have been issued

(i) at par, (ii) at a premium of 10%. Do necessary journal entries.

2210/(Set : A)



19.

20.

21.

(11) 2210/(Set : A)
A, B, 'C' T D' TF FH § T WEER 81 1 3B, 2023 B I T HAT: 50,000 3,
30,000 %; 25,000 ¥ @ 15,000 T &t 31 A, 2024 H T9C a4 % @A &1 B &
U9EIq A6 Tl I 6 AERN @ & AR AW & faWe & 0@ gl W 10% Soad @
% e T H T 2 T8 A gU b o i T B, Q@ ofawds gfafte i 3
'A', 'B', 'C' and 'D' are equal partners in a firm. Their capitals on 1st April, 2023

were ¥ 50,000; ¥ 30,000; ¥ 25,000 and ¥ 15,000 respectively. After closing the
accounts for year ended 31st March, 2024 it was discovered that according to

the Partnership Deed interest @ 10% per annum on partner's capitals was not
provided before distribution of profit. Pass the necessary journal entry assuming
that the capitals are not fixed.

Il @I [ FBd & 7 q8 G Todikd Wi § &Y [ 8 7 3

What is Realization Account ? How does it differ from Revaluation Account ?

aweﬂiﬂwa%ﬁaﬁrﬁwﬁweﬁ,ﬁslqﬁi,m%wwa%%aﬁ?%%
I & §fe W@ 9

RAT 3 TRy z
SRELS 65,900 | UHS 1,200
el fifag 3R 9,700

ST 30,000 | &i® 20,000

HTe T 20,000 | @ic g A=Y 35,000

e 50,000
1,15,900 1,15,900

2210/(Set : A) P.T.O.



(12) 2210/(Set : A)
1 3, 2024 H 77 Al IR IR AifNH B AEER S B o 6

(a) qﬁﬁzsrzﬁrwzmé%wiﬁ%maﬁwaﬁls,OOO%ivﬁeﬁTQOOO%w%%aﬁ
g

(b) b, @i Td HAFI & G 10% FA {31 ST

() HiEg F & [T 5% B TG SET S

(d) W& H 20% A Gedidh BT

(€ 1,400% % fafm @ & a9 ¥ (S fred § & Rmm T 2))

() el B R GRA AR &) A o S

G G @, Tof Ere SfX 8 wH a1 e 1 frgel Remsu 5

The following was the Balance Sheet of Anurag and Bhawna, who were sharing

profit in the ratio of % and % as at 31st March, 2024 :

Liabilities 4 Assets 4
Creditors 65,900 | Cash 1,200
Capitals : Sundry Debtors 9,700

Anurag 30,000 | Stock 20,000
Bhawna 20,000 | Plants & Machinery 35,000
Building 50,000

1,15,900 1,15,900

2210/(Set : A)



(13) 2210/(Set : A)
On 1st April, 2024 they agreed to admit Monika into partnership on the

following terms :

(@) Monika was to be given % share in profits and was to bring ¥ 15,000 as
capital and ¥ 6,000 as share of goodwill.

(b) That the value of stock and plant & machinery were to be reduced by 10%.

() That a provision of 5% was to be created for doubtful debts.

(d) That the building account was to be appreciated by 20%.

(e) Investment worth ¥ 1,400 (not mentioned in the Balance Sheet) were to be

taken into account.
(f) That the amount of goodwill was to be withdrawn by the old partners.

Prepare the Revaluation A/c, Capital Account and Opening Balance Sheet of the

new firm.
e
OR
T YU TN N W U § Y A FHHAQ § 7 & A A H B ? 5

What do you understand by Sacrificing Ratio and Gaining Ratio ? What is the

difference between two ?

22. (a) M MRS 7 10 % ard 800 LA H ST fFaT, B W 7.50 % o< & b 8, W
HAfH AEAT & 2.50 T Ul A9 T TE gU STH @ 600 S B T bl A gU
56 YR g e mn {6 2,100 % IS de # swiana fRg T

AT ST TRt s 2
2210/(Set : A) P.T.

O i



(14) 2210/(Set : A)
Ravi Ltd., forfeited 800 shares of ¥ 10 each ¥ 7.50 paid, for non-payment of
final call of ¥ 2.50 per share. Out of these, 600 shares were re-issued as

fully paid up in such a way that ¥ 2,100 were transferred to capital reserve.

Pass necessary journal entries.

(b) 'X ffRE ¥ 10 T A 800 &gt 1 STuexwT A, ¥ W 7.50 T ufq ofsr AW U
AT T IEAT % 2.50 T T ST o TE gU 3 & 600 S # 6 T W A W
7.50 T gl WG gU G- fear

AMEEH T JfaRedr R 2%

'X' Ltd., forfeited 800 shares of ¥ 10 each, I 7.50 called-up, for non-
payment for first call of ¥ 2.50 per share. Out of these, 600 shares were re-

issued for X 6 per share as X 7.50 paid up.

Pass necessary journal entries.

YqT
OR

frr=tieifed oX e feoel fog 2
(a) ST &1 WM W e

(b) -GN T SAi-AHEN

Write a short note on the following :

(@) Issue of Shares at Premium

(b) Under Subscription and Over Subscriptions

2210/(Set : A)
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qM - g

PART - B [M. M. : 15
( fofar foa=ent & fasqwen)

(Analysis of Financial Statements)

............. STU fHEll BH o SR A & & favg § gadl & &Y &l 1

(B) Teraneiiar

(C) SuE-&Har
(D) THYEAT

The ........... ratios provide the information critical to the long run payment

ability of the firm.
(A) Liquidity

(B) Activity

(C) Solvency

(D) Profitability

2210/(Set : A) P.T.O.



(16) 2210/(Set : A)
24. RU T FI : FAFYT (A) T FRT (R) & MR W F&7 oeeq & a7+ ax - 1

AR (A) : S6 F Rl T T A6 T Ahs A & WA BN AT Tl Bl B
FROT (R) : % & Faril T8 TR ks Jod B A&l § SUE A9 8l

T -

(A) R (A) AR BRI (R) A 9 8, A BRI (R), ARHN (A) P T T B
(B) S (A) IR BRYT (R) AMI & &8, T PR (R), AR (A) HI T 2T T2l 2
(C) SIB (A) T BRI (R) AT STFH B

(D) SIRFEE (A) € &, g @RV (R) 36 B

On the basis of given Statements : Assertion (A) & Reason (R), choose the
correct option :

Assertion (A) : Amount withdrawn from the bank does not affect the flow of
cash and cash equivalents.

Reason (R) : The amount withdrawn from the bank is a transaction between

cash and cash equivalent item.
Options :

(A) Both Assertion (A) and Reason (R) are true and Reason (R) is correct

explanation of Assertion (4).

(B) Both Assertion (A) and Reason (R) are true, but Reason (R) is not correct

explanation of Assertion (4).

(C) Both Assertion (A) and Reason (R) are false.

(D) Assertion (A) is true, but Reason (R) is false.

2210/(Set : A)



(17) 2210/(Set : A)
25. [ 3ffhel 3 SR W TF FH 3} 99 T HIT $ AT enf e 1

AR &k 70,000 3; &ifed & 80,000 3; Wi A STIUE 6 |
(A) 1,50,000 % (B) 90,000 3%

(C) 4,50,000% (D) 4,80,000%
On the basis of following data, the cost of goods sold by a Company will be :

Opening Inventory I 70,000; Closing Inventory I 80,000; Stock Turnover Ratio 6

times.
(&) % 1,50,000 (B) % 90,000
(C) % 4,50,000 (D) % 4,80,000
26. AGHT 7 D o § AT F1 G © 7 1

What do you mean by Qualitative Information in Accounting ?

27. FON H AR R L 4 fau T 9ET & SFYER JAR FHA B 2 1

2210/(Set : A) P.T.O.



(18) 2210/(Set : A)

Balance Sheet of a Company is required to be prepared in the format given

in ............ .

(A) Schedule II Part II
(B) Schedule III Part I
(C) Schedule III Part III

(D) Table (A)

28. g faXel & HE & S9ar df| 2

Give any two uses of Financial Statements.

29. fidiad gErmell N AR el Bhare § Uhs JdE wd B 3
31-03-2015 31-03-2016
W (STafeied g) : 6,00,000 % 7,50,000 %
SIfARFT T -

(i 1,00,000 ¥ TEIT H Ha= B X 30,000 T €fGd 8 o1, 3§ 50,000 T | o &
|l

(i) 31-03-2016 FH T & a@ a9 § HaT W 50,000 I € TEAT T4

2210/(Set : A)
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(19) 2210/(Set : A)

Calculate Net Cash Flows from investing activities from the following informations :
31-03-2015 31-03-2016

Building (Written Down Value) 3 6,00,000 % 7,50,000

Additional Informations :

(i) Building costing ¥ 1,00,000 on which ¥ 30,000 has accumulated as
depreciations was sold for I 50,000.

(ii) Depreciation charged on building for the year ended 31-03-2016 X 50,000.

3TeE
OR

‘foq dddt fpamell @ Vae Yare’ & el 7 9af & 9 H] 3

Explain any three items of 'cash flow from financial activities'.

fret oiferet & =g ogu ofR St STYUId @ ToMT % 21 +21 =5
A et . 75,000%

wieh /3l . 35,000%

(20,000 % BT R & Ted |fea)

2210/(Set : A) P.T.O.



(20) 2210/(Set : A)
rﬁﬁ T : 10,000 ¥

Frishie ot : 60,000 %

From the following data, calculate Current Ratio and Liquid Ratio :

Liquid Assets : % 75,000

Inventories : ¥ 35,000

(Includes loose tools at ¥ 20,000)

Prepaid Expenses : % 10,000
Working Capital : % 60,000
YT
OR
kg Tare eRor & 71 oed B 7 3E el grv del & Sod HR| 1+4=5

What is meant by Cash Flow Statement ? Mention any four limitations of it.

2210/(Set : A)



23. Al

(A)

(B)

(€)

(D)

Al

(A)

(B)

(€)

(D)

(21)
qT - |
PART - C
(FIEiFa i)
(Computerized Accounting)
: B2 G # Hafdd &3 ©

TR ST T A
TR dfe X dfr

TR e & W AR o faegedl & S ad

THT fic WA T E & 99 oBR

: E2 in Excel refers to :

Column on Excel Sheet

Row on Excel Sheet

Cell between start and end point of Excel Sheet

Alphabets between A to E on Excel Sheet

2210/(Set : A)
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24.

25.

26.

(22) 2210/(Set : A)
Frefafad & & &M Hgcliga aai®T JoTel B G 787 & 7 1

(A) ool @ EHET & HROT ST @ AT 3G 8 Tl o
(B) 2er BT B forg s B

(C) ST & el & foTq Suered T8l < Sl sl

(D) SR SR eTffdse RO S 78t @ o &bl o

Which of the following is not a limitation of Computerized Accounting System ?

(A) Data may be lost or corrupted due to power interruptions.
(B) Data is prone to hacking.
(C) Data is not made available to everybody.

(D) Unprogrammed and un-specified reports cannot be generated.

T FYTUEA @B Ol 1 FOAHT A& 8, ) SH aoic B9 &l W 379 d HiA-al

SOTl A1 ey ? 1
(A) ST & U WER dfedy (B) TR dfeaay
(C) I-AT FeddX (D) ST § & B2 ff @R, off @ aFa 99 R

Ram wants to install a Computerized Accounting System, but his budget is low.

Which software he should opt for ?

(A) Ready to use Software (B) Customized Software
(C) Tailor-made Software (D) Buy any of above, all cost same
o fepeg & W @ &F A1 & @EY H qREdd w Hhd © 7 1

Using which option/view, we can change the look of a chart ?

2210/(Set : A)



(23) 2210/(Set : A)
27. RU T FI : FAFYT (A) T FRT (R) MR W F&7 oeeq & o7+ ax - 1

SRR (A) : T BY I IRW UM P [T 0 AE B G WER B A F S&«d o
HHAT B

HRO (R): T UE =< § 10 § o1 APET & daar 2
@

(A) SRR (A) €9 &, WG @R (R) A B

(B) SIRREA (A) 3T &, W= R (R) & B
(C) @A (A) IR BRY (R) AMI & &8, W PR (R), AR (A) HI T 2@ T2l 2
(D) 1@ (A) 3R RO (R) QM1 19 2

On the basis of given Statements : Assertion (A) & Reason (R), choose the
correct option :

Assertion (A) : A chart can be changed to another type of chart to get different
look and purpose.

Reason (R) : A Pie chart can have more than 10 categories in it.
Option :

(A) Assertion (A) is true, but Reason (R) is false.

(B) Assertion (A) is false, but Reason (R) is true.

(C) Both Assertion (A) and Reason (R) are true, but Reason (R) is not correct

explanation of Assertion (4).

(D) Both Assertion (A) and Reason (R) are false.

2210/(Set : A) P.T.O.



(24) 2210/(Set : A)
28. JfREd g Ui | F1 AR B 2

What is meant by Written Down Value Method ?

29. % & FT A B ? 38D BIE & AT B GO B 3

What is meant by Graph ? Explain any two advantages of it.

30. FYFT AGHT YOICl § T AR & P AP i OTCl IS HE FIv A
ERIEN 5

What is meant by Computerized Accounting System ? Give four advantages over
Manual Accounting System.

YqT

OR

frrifaiag ox dftra fewelt fafae - 2
(@) SoEgies Bredlie & [van
(b) IEFL(H SIS & IIAM

Write short notes on the following :
(a) Features of Electronic Spreadsheet

(b) Application of Electronic Spreadsheet

2210/(Set : A)



CLASS : 12th (Sr. Secondary) Code No. 2210
Series : SS/Annual Exam.-2025

Roll No. SET : B

AT

ACCOUNTANCY
[ Hindi and English Medium |
ACADEMIC/OPEN
(Only for Fresh/Re-appear/Improvement/Additional Candidates)

Time allowed : 8 hours | [ Maximum Marks : 60

o PV AT B T ¥ 5T FoT-97 7 JRT JT 24 T §97 38 (22 + 8 + 8) &

Please make sure that the printed pages in this question paper are 24 in number
and it contains 38 (22 + 8 + 8) questions.

o Jo7-7H ¥ e & @ G RF T FS THT Tl f H OH FI-Yikaw F FEI-g8 9
gy

The Code No. and Set on the right side of the question paper should be written by
the candidate on the front page of the answer-book.

o FYF J9T H TV [TGT Y& V7§ Yeer, 9T B B AT [7E]

Before beginning to answer a question, its Serial Number must be written.
o FUT-YitTHE & = H @l §,/9 7 881

Don’t leave blank page/pages in your answer-book.

o FT-YRTHE B SIRFT FF o de Tel R o SEvIRagar & @ st frar Fav T
FIC]

Except answer-book, no extra sheet will be given. Write to the point and do not
strike the written answer.

2210/(Set : B) P.T.O.
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o TR T AT To JeT-UH G Haed [@ T To & SARFT FIT-YH YU o 8 A T
g siie defcy® 7ot & IR T Fbd ST F 9T T

Candidates must write their Roll No. on the question paper. Except Roll No. do not

write anything on question paper and don't make any mark on answers of objective

type questions.

o U F97 % FUT 37 @ {4 & GhlEd FY @ [ Fe7-0F {7 T 78 8, e # I 59
T 7 g 4 qar w&hHe T8 RAr aam

Before answering the questions, ensure that you have been supplied the correct and
complete question paper, no claim in this regard, will be entertained after
examination.

A 3T -
(i) T8 Fo7-97 T 9 7 e & -

G - 3 : @EERT B G FUT B T aGET
G - § : [FhT [[aee a7 fsavn

9T - T : FYNHT AGIHT

(i) T - oF Sffard &1 gEwef o7y s @ T - § T G- T T G FE T T ET
&Y/

(iii) TH 797 T TV &

(iv) 597 G 1 § 10 T 23 & 27 7% TGS F97 &1 9% 97 1 6% & &

(v) 597 Gear 11 & 15 797 28 GIfday Iaeid 597 &1 J9% J97 2 6/% & &

(vi) 97 & 16 @ 20 T 29 TF FGT Fo7 81 JAF o7 3 3% F &

(vii) F97 T&r 21, 22 797 30 § FFNT J97 81 H9F F97 5 9F P 81

(viii) B Fe7] & SiRE [ABeY S9r=y & 87 797 H & SAYH HaA G & 597 FA &1

General Instructions :
(i) This question paper is divided into three Parts :
Part - A : Accounting for Partnership Firms & Companies.

2210/(Set : B)



(3) 2210/(Set : B)
Part - B : Analysis of Financial Statements.

Part - C : Computerized Accounting.

(i) Part — A is compulsory. Candidates have to attempt any one part from
Part - B and Part - C of their choice.

(iii) All questions are to be attempted.

(iv) Question Nos. 1 to 10 and 23 to 27 are objective type questions. Each
question carries 1 mark.

(v) Question Nos. 11 to 15 and 28 are very short answer type questions. Each
question carries 2 marks.

(Vi) Question Nos. 16 to 20 and 29 are short answer type questions. Each
question carries 3 marks.

(vii) Question Nos. 21, 22 and 30 are long answer type questions. Each question
carries 5 marks.

(viii) An internal choice is available in some questions. You have to attempt only
one of the given choice in such questions.

| -
PART - A [M. M. :45
(ST BH SR HuE $ T i)
(Accounting for Partnership Firms & Companies)
1. g o9 8 @ed § ? 1
What are Accumulated Profits ?
2. IR AT WEER S B @ TS AL, d 34 [ SRR &R Sl S 1
(A) T oA H (B) T IgTE A
(C) T U (D) Uit ogara &

2210/(Set : B) P.T.O.
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If the new partner brings his share of goodwill in cash, it will be shared by old

partners in :
(A) Ratio of Sacrifice (B) Old Profit Sharing Ratio

(C) New Profit Sharing Ratio (D) Capital Ratio

3. W el /diergfedl o s @ & FeiRd T8 el g ok Hew qen %Y g
% RN & I W A B o, LE AR oL SfUg el o 2 1

The debentures/securities on which the rate of interest is not specified, instead
the difference in sale price and purchase price works as interest, such securities

are known as ............ bonds.

4. “qRaWsiT FOTE” § ST F GHIS & 7 1

What do you understand by "Convertible Debentures" ?

5. 'A' T 'B' AW-8IN H T dfed gL FH A WEER A 1 3B, 2024 § I qW-E A
4 :3 % I ¥ dcd W HEWd U A e & STU # UReeE & RO A & @

IR STYET T I feed BT ¢ ’
(A) @ TRy (B) @ -

14 14
(©) s i D) @ >

7 7

2210/(Set : B)
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'A' and 'B' were partners in a firm sharing profit or loss equally. With effect from
1st April, 2024 they agreed to share profits in the ratio 4 : 3, due to change in

profit sharing ratio, A's gain or sacrifice will be :

(A) Gain 1 (B) Sacrifice 1
14 14
(C) Gain 4 (D) Sacrifice 3
7 7
6. SAAARA H THT & TG H BN A ... oIl B B 1
Shareholders get ............ as their return from the company.
7. T U FEAl : RHYT (A) TN FRT (R) T IR R gel [ &l T B 1

ARBET (A) : TEER & T4 H A BH H GEGT e, g AT QRN H FHOE ol

PR (R) : TEER & YA & Y WEERK $ §Wed (Reconstitution) & FEd % g
EER oftaa | T8 @l 8 AR T T3 AEErl o™ § R 5, Wy WA
g, &l B

&
(A) SIRERA (A) STR RO (R) M T o, T BRY (R), ARERIT (A) B T&l AT el o
(B) SR (A) R PR (R) A 9 & 3R SR (R), SARES (A) H T8 e 2

(C) SIRERIN (A) T HR (R) T 19 B

(D) SR (A) 3THA 8, Tg FN (R) T ol

2210/(Set : B) P.T.O.
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On the basis of given Statements : Assertion (A) & Reason (R), choose the

correct option :

Assertion (A) : Admission of a partner does not mean the dissolution of the firm

but the dissolution of the old partnership.
Reason (R) : Admission of a partner means reconstitution of the partnership so
that the old partnership ceases to exist and a new partnership
comes into existence but the firm continuous.
Options :
(A) Both Assertion (A) and Reason (R) are true, but Reason (R) is not correct
explanation of Assertion (4).

(B) Both Assertion (A) and Reason (R) are true and Reason (R) is correct
explanation of Assertion (A).

(C) Both Assertion (A) and Reason (R) are false.

(D) Assertion (A) is false, but Reason (R) is true.

8. RU U Tl : FHHYT (A) T FRXT (R) T MR W & Fbeq &1 a7 &Y - 1
AR (A) : TR & RO B TG G J SKIART el 61 S ol

FROT (R) : BRR § F°7 TF 9@ 0@ &, 36 GRR & O & TaE & &) G s
zl

%

(A) S (A) IR R (R) AM1 T 5, T R (R), AR (A) H T 2T T2l 2

(B) ST (A) R HR (R) AW 9 &, 3K ®RT (R), ST (A) 3 T2 R 2

(C) IR (A) §F &, T BV (R) A ol

(D) SIRREA (A) 3T &, T R (R) T B

2210/(Set : B)
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On the basis of given Statements : Assertion (A) & Reason (R), choose the
correct option :

Assertion (A) : Loan from partner is not transferred to realization account.
Reason (R) : Loan from partner is a outside liability. It is paid after the payment
of partner's capital.
Options :
(A) Both Assertion (A) and Reason (R) are true, but Reason (R) is not correct
explanation of Assertion (4).

(B) Both Assertion (A) and Reason (R) are true, and Reason (R) is correct
explanation of Assertion (4).

(C) Assertion (A) is true, but Reason (R) is false.

(D) Assertion (A) is false, but Reason (R) is true.

9. FUE @ Rufg faRor & ......... e § e S 2 1
Debentures are shown on ............ side of the Balance Sheet.
10. SRR Toft B B 1
(A) SR ol

(B) UoIFTd &=

(C) 7 wrh & Ton

(D)  AA g2 TSl &1 a8 9N S dad HOA B GAGT T & AT ST qebal o

Reserve Capital is :

(A) Subscribed Capital

(B) Reserve Capital

(C) Uncalled Capital

(D) Part of uncalled capital with may be called only at the time of liquidation of
the company

2210/(Set : B) P.T.O.
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11. 31 919, 2023 & U< BN aid a9 & e HHE 0t 3 STe W 10% aifie & &< 9
TONT T A SES IS fqHEl & ST § 10,000 T 310 fhu) 2

Calculate the Interest on Drawing of Mr. Mohit @ 10% p.a. for the year ended
31st March, 2023. If he withdrew I 10,000 at the end of each quarter.

12. 'A' T 'B' HERK § SN @ # 4 ;1 U & died 2 'A'W%@W%W'B‘

amﬁi%@&m%,'C'%wﬁmwaﬂﬁ%@rwa@m%wagqﬁaﬁma@qﬁw
gl ? 2

'A' and 'B' are partners sharing profit in the ratio of 4 : 1. 'A' surrenders lth of

his share and 'B' surrenders % of his share in favour of 'C', a new partner.

What is the sacrificing ratio and the new ratio ?

YqT
OR

Ueh THER] B &l S &l G 3 a el & Hehl &l Galas Bl 2

List any two factors affecting goodwill of a partnership firm.

13. EEN @ @ STuRdid § &N 8 arl dEer) AT @ [ @ el @ Swe
i1 2

Mention any two provisions of the Partnership Act applicable in the absence of
Partnership Deed.

14. B9 % THYT JUT R & G999 3 HiE § oK T i 2

Clarify any two differences between dissolution of a firm and dissolution of

partnership.

2210/(Set : B)
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15. T BH %1 3fEd @9 70,000 T B, 367 5,000 T P UHh TN A9 M 81 Fqad A
ffFEif Toff 5,50,000 % B T @ & AWM & 10% 21 e & a) A & aXET
1 Sl TOMT iy 2

A firm average profit are ¥ 70,000, it includes an abnormal profit of ¥ 5,000.
Capital invested in the business is ¥ 5,50,000 and the normal rate of return is

10%. Calculate goodwill at four times the super profit.

3TeE
OR
#E @ A< fafan o av-a FEem @ @ siee § el s B

Name any two items which are shown on the credit of profit and loss
appropriation account.

16. 'A', ‘B, 'C' 71 'D' T ®H ¥ §ANM €EER | 1 3B, 2023 & I Tl HAT: 50,000 3,
30,000 ; 25,000 % @1 15,000 % &l 31 A€, 2024 & FHC 99 & @A I<° & &
UeETq I8 U1 I [ ERR §AE % OTJAR A & [N & 94 gofl W 10% HEy S
% e T H T 31 T8 A gU b o W T B, A H MEwdS dare Hiow 3

'A', 'B', 'C' and 'D' are equal partners in a firm. Their capitals on 1st April, 2023
were ¥ 50,000; ¥ 30,000; ¥ 25,000 and ¥ 15,000 respectively. After closing the
accounts for year ended 31st March, 2024 it was discovered that according to
the Partnership Deed interest @ 10% per annum on partner's capitals was not
provided before distribution of profit. Pass the necessary journal entry assuming

that the capitals are not fixed.

2210/(Set : B) P.T.O.
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17. Ig @ 68 &Fed & 7 98 A ek @i § &9 [ 8 7 3

What is Realization Account ? How does it differ from Revaluation Account ?
18. fo=ifoid oX deiq § ool ffew 1x3=3
(i) Sled gaifemrR i
(i) sl yaifeer ofsr
(i) TR QAR S
Write short note on the following :
(i) Redeemable Preference Shares
(i) Cumulative Preference Shares

(iii) Participating Preference Shares

19. IR FI TEURE 6,00,000 3; FA AR™E 1,00,000 I; TfEd & fepa @ o ARy
4,20,000 X 1 9l @G 5,000 T &, Tl GGl SN AL /B bl TOFT i@ 3

If total assets are T 6,00,000; total liabilities are I 1,00,000; amount realized on
sale of assets is ¥ 4,20,000 and realization expenses are I 5,000. Find out profit

or loss by making Realization A/c.

20. 'X' ffo T T 'Y Mo & & 9,90,000 & [&& i &I Tl &Ha Hil I8 TEAN T3
& 100 T drt 11% RO & FOHT &R % o H A 61 ST 98 HiT & sors
(i) TE W, (ii) 10% Hfrem w® Frifra B e sawes s sfaftedr S 3

2210/(Set : B)
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'X' Ltd. Company purchase assets of the book value of ¥ 9,90,000 from 'Y' Ltd.
Company. It was agreed that the purchase consideration be paid issuing 11%
Debentures of 100 ¥ each. Assume that the Debentures have been issued

(i) at par, (ii) at a premium of 10%. Do necessary journal entries.

21. T FII T A9 A ST § A F GHAQ & 7 g A A A e B 7 5

What do you understand by Sacrificing Ratio and Gaining Ratio ? What is the

difference between two ?

3TeE
OR

aﬂﬂﬂ@ﬁ?ﬂﬁﬂ%ﬁaﬁrﬁwﬁweﬁ,ﬁslqﬁ,m%wwﬁ%aﬂ?%q‘s
TP H dfe W@ 9

RAT 3 qRy z
SRELS 65,900 | AHS 1,200
it fafger 3R 9,700

ST 30,000 | &i® 20,000

e 20,000 | @i q A=A 35,000

e 50,000
1,15,900 1,15,900

2210/(Set : B) P.T.O.



(12) 2210/(Set : B)
1 3, 2024 H 77 9l IR IR AifNH B AEER S W B o R

(a) qﬁﬁzsrzﬁrwzméWWW@lS,OOO%iﬁﬁ@T@OOO%@ﬁ%aﬁ
g

(b) b, @i Td HAW & G 10% HH {31 ST

() HiEg F & [T 5% B TG SET S

(d) W& H 20% A Gedidh BN

(€ 1,400% % fafw @ & a9 ¥ (S fred § & Rmm 1 2))

(f) TR @ R GRE AEER &) e @ S

G G @, Tof Ere SfX 8 wH a1 e 1 frgel Remsu 5

The following was the Balance Sheet of Anurag and Bhawna, who were sharing

profit in the ratio of % and % as at 31st March, 2024 :

Liabilities 4 Assets 4
Creditors 65,900 | Cash 1,200
Capitals : Sundry Debtors 9,700

Anurag 30,000 | Stock 20,000
Bhawna 20,000 | Plants & Machinery 35,000
Building 50,000

1,15,900 1,15,900

2210/(Set : B)
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On 1st April, 2024 they agreed to admit Monika into partnership on the

following terms :

(@) Monika was to be given % share in profits and was to bring ¥ 15,000 as
capital and ¥ 6,000 as share of goodwill.

(b) That the value of stock and plant & machinery were to be reduced by 10%.

() That a provision of 5% was to be created for doubtful debts.

(d) That the building account was to be appreciated by 20%.

(e) Investment worth ¥ 1,400 (not mentioned in the Balance Sheet) were to be

taken into account.
(f) That the amount of goodwill was to be withdrawn by the old partners.

Prepare the Revaluation A/c, Capital Account and Opening Balance Sheet of the

new firm.

Frfafed w @R foef g 21 +21 =5
(a) ofsT @1 WM W e

(b) -GN T SAi-AHEN

Write a short note on the following :

(@) Issue of Shares at Premium

(b) Under Subscription and Over Subscriptions

2210/(Set : B) P.T.O.
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OR

(2) @ ffRES 10 X A 800 s & FUEI fpaT, B9 W 7.50 X < & & 8, W
HAfH AEAT & 2.50 T Ul A9 T TE gU 3AH @ 600 S B T gl A gU
56 YR gA:-FRe 6w {6 2,100 % OEi dea # sxataia fRg T

AMEEH T dfaRedr R 2%

Ravi Ltd., forfeited 800 shares of ¥ 10 each % 7.50 paid, for non-payment of
final call of ¥ 2.50 per share. Out of these, 600 shares were re-issued as

fully paid up in such a way that ¥ 2,100 were transferred to capital reserve.

Pass necessary journal entries.

(b) X fafRe ¥ 10 T a 800 3isit H erveer fam, 9 W 7.50 T Wiy ofyr A M@
A T AT % 2.50 T AT ST o TE g I & 600 A F 6 T W A W
7.50 T IHA1 A0 g G- Rear

JMETH ST Hfaiedr dfm 2

=

'X' Ltd., forfeited 800 shares of ¥ 10 each, I 7.50 called-up, for non-
payment for first call of ¥ 2.50 per share. Out of these, 600 shares were re-

issued for X 6 per share as X 7.50 paid up.

Pass necessary journal entries.

2210/(Set : B)
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qM - g

PART - B [M. M. : 15
( fofar foa=ent & fasqwen)

(Analysis of Financial Statements)

23. @HT § oS Gol & AT F1 G o 1

What do you mean by Qualitative Information in Accounting ?

24. FH H ARy e .. 4 fau T 9EY & SFYER JAR FHA BN 2 1

(B) STggEl 11 90 1

(C) TIg=l I ART I
(D) TR (A)

Balance Sheet of a Company is required to be prepared in the format given

in ............ .

(A) Schedule II Part II
(B) Schedule III Part I
(C) Schedule III Part III

(D) Table (A)

2210/(Set : B) P.T.O.
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25. coereennn U FHE B Al AR A & & v § gEer EE S 2 1
(A) T (B)  fepamsiter
(C) Sire-&wa (D)  ATSTSTET
The ........... ratios provide the information critical to the long run payment

ability of the firm.

(A) Liquidity (B) Activity
(C) Solvency (D) Profitability
26. U T HUAl : BT (A) TN FRT (R) IR W FeJ [Iheq B a8 AT ¢ 1

AR (A) : B & Rl T R Ak @ Abs A & YA BN AT Tl B B
PR (R) : §% @ el B TR Vb8 G B 7l A AGE -3 B

T

(A) ST (A) R HR (R) A9 9 &, 3R &R (R), ST (A) 3 T2 R 2
(B) S (A) IR BRYT (R) AMI & 5, T PR (R), AR (A) Hl T 2T T2l 2
(C) SR (A) TN R (R) AT STFH B

(D) SR (A) €@ &, T HRVT (R) A ol

2210/(Set : B)
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On the basis of given Statements : Assertion (A) & Reason (R), choose the
correct option :

Assertion (A) : Amount withdrawn from the bank does not affect the flow of
cash and cash equivalents.

Reason (R) : The amount withdrawn from the bank is a transaction between

cash and cash equivalent item.
Options :

(A) Both Assertion (A) and Reason (R) are true and Reason (R) is correct

explanation of Assertion (A).

(B) Both Assertion (A) and Reason (R) are true, but Reason (R) is not correct

explanation of Assertion (4).
(C) Both Assertion (A) and Reason (R) are false.

(D) Assertion (A) is true, but Reason (R) is false.

27. 1 3ffhel B YR W TF FH ER 99 T A1 P AFd Bnf e 1

AR €l 70,000 ; Sifem & 80,000 ¥; Efeh Afdd A 6 0T

(A) 1,50,000% (B) 90,000%

(C) 4,50,000% (D) 4,80,000%

On the basis of following data, the cost of goods sold by a Company will be :

Opening Inventory I 70,000; Closing Inventory I 80,000; Stock Turnover Ratio 6

times.
(A) 1,50,000 (B) ¥ 90,000
(C) % 4,50,000 (D) % 4,80,000

2210/(Set : B) P.T.O.
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28. o faael & #ig & ST dfm 2

Give any two uses of Financial Statements.

29. o g frarell @ Vs waE’ & 5l @7 7€ & aue S 3

Explain any three items of 'cash flow from financial activities'.

S
OR
frefeie germmetl ar faEeT qeel hareti |§ ks are & &Y ¢ 3
31-03-2015 31-03-2016
W (STafeied g) : 6,00,000 % 7,50,000 %

ofaRk#T gal -

(i) 1,00,000 T TR H Ha= B X 30,000 T €fGd 8 o1, 3§ 50,000 T | o &
|l

(i) 31-03-2016 FH T & a@ a9 § HaT W 50,000 I € TG T4

2210/(Set : B)
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Calculate Net Cash Flows from investing activities from the following informations :
31-03-2015 31-03-2016

Building (Written Down Value) 3 6,00,000 % 7,50,000

Additional Informations :

(i) Building costing ¥ 1,00,000 on which ¥ 30,000 has accumulated as
depreciations was sold for ¥ 50,000.

(ii) Depreciation charged on building for the year ended 31-03-2016 X 50,000.

AHg YaTe e & 1 oMF B ? 39 fheel gIv QHstl & Sig i 1+4=5

What is meant by Cash Flow Statement ? Mention any four limitations of it.

g

OR
fret oiferet & =g ogu ofR St STYUId @ ToMT % 21 +21 =5
X gt : 75,000%
&b /greiedl : 35,0007%

2210/(Set : B) P.T.O.
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(20,000 % BT AR & Fed |iea)
rﬁﬁ T : 10,000 ¥
Prashia Iei : 60,0002

From the following data, calculate Current Ratio and Liquid Ratio :
Liquid Assets : % 75,000
Inventories : ¥ 35,000
(Includes loose tools at ¥ 20,000)
Prepaid Expenses : 310,000

Working Capital : % 60,000

AT -9
PART - C [M.M.:15
(F ez dgiwn)

(Computerized Accounting)

23. 59 fohcs & T q &7 9K & @eY § IRacd FX G & 7 1

Using which option/view, we can change the look of a chart ?

2210/(Set : B)
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24. RU T FIA : FAFYT (A) T FRT (R) MR W F&7 Geeq & o7+ e - 1

SRR (A) : T BY I IRW IR P [T T AE B G YER B A F S&«d o
HHAT B

HRO (R): T TE =< § 10 § o1 APET & daar 2
@

(A) SRR (A) €9 &, WG @RV (R) A B

(B) SIRREA (A) 3T &, T R (R) T B
(C) ¥ (A) IR BRYT (R) Al & &8, W PR (R), AR (A) HI T 2T T2l 2
(D) SARHT (A) AR BRI (R) AT 316 &l

On the basis of given Statements : Assertion (A) & Reason (R), choose the
correct option :

Assertion (A) : A chart can be changed to another type of chart to get different
look and purpose.

Reason (R) : A Pie chart can have more than 10 categories in it.
Option :

(A) Assertion (A) is true, but Reason (R) is false.

(B) Assertion (A) is false, but Reason (R) is true.

(C) Both Assertion (A) and Reason (R) are true, but Reason (R) is not correct

explanation of Assertion (4).

(D) Both Assertion (A) and Reason (R) are false.

2210/(Set : B) P.T.O.
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26.

Al
(A)
(B)
(€)
(D)
Al
(A)
(B)
(€)
(D)

(22) 2210/(Set : B)

: E2 THd H Hefiq &< § ¢ 1

THIT 9fie TX HieH
TR 9fie OX Ui

TR e & W AR o faegedl & s ad
TR i WA § E 3 99 iR

: E2 in Excel refers to :

Column on Excel Sheet
Row on Excel Sheet
Cell between start and end point of Excel Sheet

Alphabets between A to E on Excel Sheet

Frffed & @ &M Hgcliga AEisT JoTel B G 787 & 7 1

(A)
(B)
(€)

(D)

feTell %1 ST & HROT ST W A1 g & FhaT o
S BT & fo T B

ST & fhEl % U Suere T HE e 2
SRS SR s RUE S 21 &t o w2

Which of the following is not a limitation of Computerized Accounting System ?

(A)
(B)
(€)
(D)

Data may be lost or corrupted due to power interruptions.
Data is prone to hacking.
Data is not made available to everybody.

Unprogrammed and un-specified reports cannot be generated.

2210/(Set : B)
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28.

29.

30.

(23) 2210/(Set : B)
M FYFT A@IHT IOl Bl AT A 8, T I ol HH ol I8 398 § B8l

YOIl T =iee ? 1
(A) SWEN & T TR Wieday

(B) STgHTT HF

(C) CT-AE HiFedaX

(D) IR | & F o @, a¥f A A T4 ©
Ram wants to install a Computerized Accounting System, but his budget is low.
Which software he should opt for ?

(A) Ready to use Software
(B) Customized Software
(C) Tailor-made Software

(D) Buy any of above, all cost same

e I Tei @ @ AnmE § 7 2

What is meant by Written Down Value Method ?

WE 1 4 T B ? 30D Pls & Al B g B 3

What is meant by Graph ? Explain any two advantages of it.

I
(6)}

frfeiea oX Gt feweft fafae - 2
(@) SoETEs Bredlie & [van
(b) IEFL(H SIS & YA

N |—
N |—
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Write short notes on the following :
(a) Features of Electronic Spreadsheet

(b) Application of Electronic Spreadsheet

YqT

OR

FYFA AGHT IOl § R AWE & ? TG i IOl Hl VR Ik ¢ e
ERIEN S

What is meant by Computerized Accounting System ? Give four advantages over
Manual Accounting System.

2210/(Set : B)



CLASS : 12th (Sr. Secondary) Code No. 2210
Series : SS/Annual Exam.-2025

Roll No. SET : C

AT

ACCOUNTANCY
[ Hindi and English Medium |
ACADEMIC/OPEN
(Only for Fresh/Re-appear/Improvement/Additional Candidates)

Time allowed : 8 hours | [ Maximum Marks : 60

o PV AT B T ¥ 5T FoT-97 7 JRT JT 24 T §97 38 (22 + 8 + 8) &

Please make sure that the printed pages in this question paper are 24 in number
and it contains 38 (22 + 8 + 8) questions.

o Jo7-7H ¥ e & @ G RF T FS THT Tl f H OH FI-Yikaw F FEI-g8 9
gy

The Code No. and Set on the right side of the question paper should be written by
the candidate on the front page of the answer-book.

o FYF J9T H TV [TGT Y& V7§ Yeer, 9T B B AT [7E]

Before beginning to answer a question, its Serial Number must be written.
o FUT-YitTHE & = H @l §,/9 7 881

Don’t leave blank page/pages in your answer-book.

o FT-YRTHE B SIRFT FF o de Tel R o SEvIRagar & @ st frar Fav T
FIC]

Except answer-book, no extra sheet will be given. Write to the point and do not
strike the written answer.
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o TR T AT To JeT-UH G Haed [@ T To & SARFT FIT-YH YU o 8 A T
g siie defcy® 7ot & IR T Fbd ST F 9T T

Candidates must write their Roll No. on the question paper. Except Roll No. do not

write anything on question paper and don't make any mark on answers of objective

type questions.

o U F97 % FUT 37 @ {4 & GhlEd FY @ [ Fe7-0F {7 T 78 8, e # I 59
T 7 g 4 qar w&hHe T8 RAr aam

Before answering the questions, ensure that you have been supplied the correct and
complete question paper, no claim in this regard, will be entertained after
examination.

A 3T -
(i) T8 Fo7-97 T 9 7 e & -

G - 3 : @EERT B G FUT B T aGET
G - § : [FhT [[aee a7 fsavn

9T - T : FYNHT AGIHT

(i) T - oF Sffard &1 gEwef o7y s @ T - § T G- T T G FE T T ET
&Y/

(iii) TH 797 T TV &

(iv) 597 G 1 § 10 T 23 & 27 7% TGS F97 &1 9% 97 1 6% & &

(v) 597 Gear 11 & 15 797 28 GIfday Iaeid 597 &1 J9% J97 2 6/% & &

(vi) 97 & 16 @ 20 T 29 TF FGT Fo7 81 JAF o7 3 3% F &

(vii) F97 T&r 21, 22 797 30 § FFNT J97 81 H9F F97 5 9F P 81

(viii) B Fe7] & SiRE [ABeY S9r=y & 87 797 H & SAYH HaA G & 597 FA &1

General Instructions :
(i) This question paper is divided into three Parts :
Part - A : Accounting for Partnership Firms & Companies.

2210/(Set : C)
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Part - B : Analysis of Financial Statements.
Part - C : Computerized Accounting.

(i) Part — A is compulsory. Candidates have to attempt any one part from
Part - B and Part - C of their choice.

(iii) All questions are to be attempted.

(iv) Question Nos. 1 to 10 and 23 to 27 are objective type questions. Each
question carries 1 mark.

(v) Question Nos. 11 to 15 and 28 are very short answer type questions. Each
question carries 2 marks.

(Vi) Question Nos. 16 to 20 and 29 are short answer type questions. Each
question carries 3 marks.

(vii) Question Nos. 21, 22 and 30 are long answer type questions. Each question
carries 5 marks.

(viii) An internal choice is available in some questions. You have to attempt only
one of the given choice in such questions.

qM - A
PART - A [M. M. : 45

(T B IR FHuivat & R i)

(Accounting for Partnership Firms & Companies)

1. 59 ool /vl X s @ aX iR T8 el oty faeh qed qen %Y g § SR
% RN & I G A B o, LA R oL Sfvg Fel S 1

The debentures/securities on which the rate of interest is not specified, instead
the difference in sale price and purchase price works as interest, such securities

are known as ............ bonds.

2210/(Set : C) P.T.O.
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2. “URaaWslid FOTOE” § ST F gHI & ° 1

What do you understand by "Convertible Debentures" ?

3. 'A' T B AW-B B T dfcd gL FH A AEER & 1 3B, 2024 F T qW-B A
4 :3 % U ¥ dcd W HEWd U A e & STII # R & RO A & @

IRG STET T T feed BT ¢ 1
(A) @ RT L (B) @M -

14 14
(©) s i D) @ S

7 7

'A' and 'B' were partners in a firm sharing profit or loss equally. With effect from
1st April, 2024 they agreed to share profits in the ratio 4 : 3, due to change in
profit sharing ratio, A's gain or sacrifice will be :

(A) Gain 1 (B) Sacrifice 1
14 14
.4 . 3
(C) Gain — (D) Sacrifice —
7 7
4. AR B AT B T F BTN A oo o BT 2 1
Shareholders get ............ as their return from the company.
5. @ @ fRR wed § ° 1

What are Accumulated Profits ?

2210/(Set : C)
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6. IR T TEER AN % FH TH& A o, A 39 I Rl &R el S 1
(A) T S A (B) U e H
(C) T g (D) Toft srgamr &

If the new partner brings his share of goodwill in cash, it will be shared by old

partners in :
(A) Ratio of Sacrifice (B) Old Profit Sharing Ratio

(C) New Profit Sharing Ratio (D) Capital Ratio

7. R T FE BT (A) T FRT (R) % R W e fased &l 79 &Y ¢ 1
AR (A) : TR | RO B TG G J SKIART el 61 S ol

PRI (R) : TRRR ¥ F 0 I AR T, 38 GRRRE B G & FaE & a6 BHar S
zl

%

(A) SIRERA (A) STR RO (R) M T o, T BRY (R), ARERIT (A) B T&l AT el o

(B) ARHE (A) AR PRI (R) A 9 8, AR BRI (R), ARG (A) B Tel AR

(C) SIRFEA (A) €W &, WG @RV (R) 3T B

(D) SR (A) 3THA 8, Tg FX (R) T ol
2210/(Set : C) P.T.O.
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On the basis of given Statements : Assertion (A) & Reason (R), choose the
correct option :

Assertion (A) : Loan from partner is not transferred to realization account.

Reason (R) : Loan from partner is a outside liability. It is paid after the payment
of partner's capital.

Options :

(A) Both Assertion (A) and Reason (R) are true, but Reason (R) is not correct

explanation of Assertion (4).

(B) Both Assertion (A) and Reason (R) are true, and Reason (R) is correct

explanation of Assertion (A).

(C) Assertion (A) is true, but Reason (R) is false.

(D) Assertion (A) is false, but Reason (R) is true.

8. Ru T HFl : FRFYT (A) TN BT (R) F IR W & a1 =a+ B ¢ 1
ARBE (A) : TEER & T4 H A BH H GEGT e, g AT QRN H FHOE ol

FROT (R) : GEER & 5a9 & & A@EREN & Fed (Reconstitution) & Rrad 6 g
e aiae § T Wl & IR TF T3 dEel dRdad § o 8, Wy ®H
T, &l ol

T -

(A) S (A) IR R (R) AM1 T 8, T PR (R), SR (A) HI T 2@ T2l 2
(B) AR¥HE (A) AR PRI (R) A 9 & R BRT (R), ANET (A) H TE 2 &
(C) STNEHAE (A) T HRT (R) AT ST &

(D) SIRREA (A) 3T &, T R (R) T B

2210/(Set : C)
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On the basis of given Statements : Assertion (A) & Reason (R), choose the

correct option :

Assertion (A) : Admission of a partner does not mean the dissolution of the firm

but the dissolution of the old partnership.

Reason (R) : Admission of a partner means reconstitution of the partnership so
that the old partnership ceases to exist and a new partnership
comes into existence but the firm continuous.

Options :

(A) Both Assertion (A) and Reason (R) are true, but Reason (R) is not correct

explanation of Assertion (A).

(B) Both Assertion (A) and Reason (R) are true and Reason (R) is correct

explanation of Assertion (A).
(C) Both Assertion (A) and Reason (R) are false.

(D) Assertion (A) is false, but Reason (R) is true.

9. JRREM TSf Bl B 1
(A) iR i
(B) TofrTa &

(C) T #rt g o
(D) T AFT g8 ToN 1 T8 AN S had HON & GEIGH O & AN S b ©

2210/(Set : C) P.T.O.
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Reserve Capital is :
(A) Subscribed Capital
(B) Reserve Capital
(C) Uncalled Capital

(D) Part of uncalled capital with may be called only at the time of liquidation of
the company

10. FUoE @ Rfd ffaRor & ... w7 § R S gl 1

Debentures are shown on ............ side of the Balance Sheet.

11. 31 A, 2022 H TG 89 I a9 & ¢ SHN B9 B STE W 10% dqMus & & 9
TOMT ST I SE9 Td% fommel & 95 § 15,000 T 1e fhu 2

Calculate the Interest on Drawing of Mr. Keshav @ 10% p.a. for the year ended
31st March, 2022. If he withdrew I 15,000 during the middle of each quarter.

12. HEER G009 i gUREid § A 8N awl dEe] e @ 6l & el w1 Swd
A IE LY 2

Mention any two provisions of the Partnership Act applicable in the absence of
Partnership Deed.

13. B4 & THYT JUT R & G99 § HiE § oK T i 2

Clarify any two differences between dissolution of a firm and dissolution of

partnership.

14. U% BH & 3l9d @9 70,000 T &, 309 5,000 T & Uh AW ¥ N 21 Faad #
faff G5t 5,50,000 3 & @& @ & WA & 10% 1 A & AR A H SEX
I Bl O HITT) 2

2210/(Set : C)
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A firm average profit are ¥ 70,000, it includes an abnormal profit of ¥ 5,000.
Capital invested in the business is ¥ 5,50,000 and the normal rate of return is

10%. Calculate goodwill at four times the super profit.

e
OR
F3 § W faRaw St e PR @ & wise d forl S 2

Name any two items which are shown on the credit of profit and loss
appropriation account.

15. 'A' J1 ‘B HEER T S @ B 4 ;1 B SYuUE F afed 2 'A'W%@W%W'B‘

amﬁi%@&m%,'C'%wﬁmwaﬂﬁ%@rwa@m%wagqﬁaﬁma@qﬁw
gl ? 2

'A' and 'B' are partners sharing profit in the ratio of 4 : 1. 'A' surrenders %th of

his share and 'B' surrenders % of his share in favour of 'C', a new partner.

What is the sacrificing ratio and the new ratio ?
AYAT
OR

Ueh THER] B &l S &l G 3 a bl & 5ehl &l Galas Bl 2

List any two factors affecting goodwill of a partnership firm.

16. I @ 68 Fed & ! 98 G oAk Wi § &y B § 7 3

What is Realization Account ? How does it differ from Revaluation Account ?

2210/(Set : C) P.T.O.
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17. g 9 |89 § feoel fafeaw - 1x3=3

(i) Sled gaifemrR i

(i) Gl At st

(iii) AFTYHRT GAifbR A

Write short note on the following :
(i) Redeemable Preference Shares
(i) Cumulative Preference Shares

(iii) Participating Preference Shares

18. IR F@ TEREl 6,00,000 ¥; FA AR™E 1,00,000 I; TfoEdl & fwpa @ s ARy
4,20,000 X 1 9l @G 5,000 T &, Tl GGl SN AL /B bl TOFT i@ 3

If total assets are T 6,00,000; total liabilities are I 1,00,000; amount realized on
sale of assets is ¥ 4,20,000 and realization expenses are I 5,000. Find out profit

or loss by making Realization A/c.

19. 'X' fdfo & T 'Y’ o ¥ & 9,90,000 & J&H A &I TRl H Bl T8 TAM &3
& 100 T drt 11% RO & FOHT &R % o H A 61 ST 98 HiT & sors
(i) TE W, (ii) 10% Hfrem w® Frifra B e sawes s sfaftedr S 3

2210/(Set : C)
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21.

(11) 2210/(Set : C)
'X' Ltd. Company purchase assets of the book value of ¥ 9,90,000 from 'Y' Ltd.
Company. It was agreed that the purchase consideration be paid issuing 11%
Debentures of 100 ¥ each. Assume that the Debentures have been issued

(i) at par, (ii) at a premium of 10%. Do necessary journal entries.

‘A, 'B', 'C' T D' TF ®H § TF FEER 81 1 3B, 2023 & I GO HAT: 50,000 I,
30,000 3; 25,000 % @1 15,000 % &l 31 A, 2024 H € 99 & @A I<5 & &
UeETq I8 U1 I [ WERR §AE @ TR A & [N & 94 gofl W 10% HEy St
% e T H T 2 T8 A gL b Ton R TR B, Q@ oawds gfafte i 3

'A', 'B', 'C' and 'D' are equal partners in a firm. Their capitals on 1st April, 2023
were ¥ 50,000; ¥ 30,000; ¥ 25,000 and ¥ 15,000 respectively. After closing the
accounts for year ended 31st March, 2024 it was discovered that according to

the Partnership Deed interest @ 10% per annum on partner's capitals was not
provided before distribution of profit. Pass the necessary journal entry assuming
that the capitals are not fixed.

awﬁmwa%ﬁaﬁrﬁwﬁweﬁ,ﬁslqﬁ,m%wwq%%aﬂ?%%
TP H dfe W@ 9

RAT 3 qRy z
SRELS 65,900 | AHS 1,200
el fafer 3R 9,700

ST 30,000 | &i® 20,000

HTET 20,000 | @i q A=A 35,000

T 50,000
1,15,900 1,15,900

2210/(Set : C) P.T.O.
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1 3, 2024 H 77 9l IR IR AifNH B AEER S W B o R

(a) qﬁﬁzsrzﬁrwzméWWW@lS,OOO%iﬁﬁ@T@OOO%@ﬁ%aﬁ
g

(b) b, @i Td HAW & G 10% HH {31 ST

() HiEg F & [T 5% B TG SET S

(d) W& H 20% A Gedidh BN

(€ 1,400% % fafw @ & a9 ¥ (S fred § & Rmm 1 2))

(f) TR @ R GRE AEER &) e @ S

G G @, Tof Ere SfX 8 wH a1 e 1 frgel Remsu 5

The following was the Balance Sheet of Anurag and Bhawna, who were sharing

profit in the ratio of % and % as at 31st March, 2024 :

Liabilities 4 Assets 4
Creditors 65,900 | Cash 1,200
Capitals : Sundry Debtors 9,700

Anurag 30,000 | Stock 20,000
Bhawna 20,000 | Plants & Machinery 35,000
Building 50,000

1,15,900 1,15,900

2210/(Set : C)
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On 1st April, 2024 they agreed to admit Monika into partnership on the

following terms :

(@) Monika was to be given % share in profits and was to bring ¥ 15,000 as
capital and ¥ 6,000 as share of goodwill.

(b) That the value of stock and plant & machinery were to be reduced by 10%.

() That a provision of 5% was to be created for doubtful debts.

(d) That the building account was to be appreciated by 20%.

(e) Investment worth ¥ 1,400 (not mentioned in the Balance Sheet) were to be

taken into account.
(f) That the amount of goodwill was to be withdrawn by the old partners.

Prepare the Revaluation A/c, Capital Account and Opening Balance Sheet of the

new firm.
e
OR
T YU TN N W U | Y A FEHAA § 7 &9 AN A’ SH B ? 5

What do you understand by Sacrificing Ratio and Gaining Ratio ? What is the

difference between two ?

22. (a) M MRS 7 10 % ad 800 LA H ST fhaT, B W 7.50 % o< & b &, W
HAfH AEAT & 2.50 T Ul A9 T e gU SAH @ 600 S B T gl A gU
56 YR g e mn {6 2,100 % IS de # swtana fRg T

AT ST TRt s 2
2210/(Set : C) P.T.
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Ravi Ltd., forfeited 800 shares of ¥ 10 each ¥ 7.50 paid, for non-payment of
final call of ¥ 2.50 per share. Out of these, 600 shares were re-issued as

fully paid up in such a way that ¥ 2,100 were transferred to capital reserve.

Pass necessary journal entries.

(b) 'X ffRe ¥ 10 T A 800 &gt 1 STuexRwT fham, ¥ W 7.50 T Uy ofsr A M
AT T IEAT % 2.50 T T ST o TE gU 3 & 600 S # 6 T W SA W
7.50 T Al WG gU G- fear

AMEEH T JfaRedr R 2%

'X' Ltd., forfeited 800 shares of ¥ 10 each, I 7.50 called-up, for non-
payment for first call of ¥ 2.50 per share. Out of these, 600 shares were re-

issued for X 6 per share as X 7.50 paid up.

Pass necessary journal entries.

YqT
OR

frr=tieifed oX e feoel fog 2
(a) ofsT @1 WFEE W

(b) -GN T SAi-AHE

Write a short note on the following :

(@) Issue of Shares at Premium

(b) Under Subscription and Over Subscriptions

2210/(Set : C)
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AT - §

PART - B [M.M.: 15

( faeh et @1 )

(Analysis of Financial Statements)

23. FN H RAf R . 4 fau T 9EY & AR JAR HA BN B 1

(B) TggEl 111 90T 1

(C) SFIEEN 1T AT I
(D) T (A)

Balance Sheet of a Company is required to be prepared in the format given

in ............ .

(A) Schedule II Part II
(B) Schedule III Part I
(C) Schedule III Part III
(D) Table (A)

2210/(Set : C) P.T.O.
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24. ..o U el ®H il DHERI A A B AT § gE e Hd g 1
(A) X (B)  fepanmsiter
(C) Sire-&wa (D)  ATSTSTET
The ........... ratios provide the information critical to the long run payment

ability of the firm.

(A) Liquidity (B) Activity
(C) Solvency (D) Profitability
25. U T HUAl : HHYT (A) TN FRT (R) IR N FeJ [Iheq & T HY - 1

AR (A) : B & Rl T TR Ak T Abs A & YA BN AHIGT Tl B o
PR (R) : 5% & e T i Abs g B W A e a2 B

T

(A) ST (A) R FR (R) A9 9 &, 3K &R (R), SR (A) 3 T2 R 2
(B) SRR (A) STR HRVT (R) AF T o, T BRYT (R), ARERIT (A) B T&l AT el o
(C) SAHTH (A) T HROT (R) I 1A &l

(D) SR (A) €@ &, T HRVT (R) 6 ol

2210/(Set : C)
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On the basis of given Statements : Assertion (A) & Reason (R), choose the
correct option :

Assertion (A) : Amount withdrawn from the bank does not affect the flow of
cash and cash equivalents.

Reason (R) : The amount withdrawn from the bank is a transaction between

cash and cash equivalent item.
Options :

(A) Both Assertion (A) and Reason (R) are true and Reason (R) is correct

explanation of Assertion (A).

(B) Both Assertion (A) and Reason (R) are true, but Reason (R) is not correct

explanation of Assertion (4).
(C) Both Assertion (A) and Reason (R) are false.

(D) Assertion (A) is true, but Reason (R) is false.

26. 7 (Sl & SR W T FAA &R 99 T A & AEa enl 1
AR €l 70,000 3; Sifem & 80,000 I; Efeh Afdd A 6 0T
(A) 1,50,000% (B) 90,000%
(C) 4,50,000% (D) 4,80,000%
On the basis of following data, the cost of goods sold by a Company will be :

Opening Inventory ¥ 70,000; Closing Inventory I 80,000; Stock Turnover Ratio 6

times.
(A) 1,50,000 (B) ¥ 90,000
(C) % 4,50,000 (D) % 4,80,000

2210/(Set : C) P.T.O.
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27. @HT § OTHE Gol & AT F1 G S 7 1

What do you mean by Qualitative Information in Accounting ?

28. g faXel & HE & S9ar 4| 2

Give any two uses of Financial Statements.

29. fidied gEAmell N AR vl Bhare § Uhs JdE w B 3
31-03-2015 31-03-2016
W (Srafeied g) : 6,00,000 % 7,50,000 %
STIRFT G -

(i) 1,00,000 ¥ TEIT H Ha= B X 30,000 T €fGd 8 o1, 3§ 50,000 T | o &
Lol

(i) 31-03-2016 % TAC BM A a9 § 9a 9X 50,000 T T AT T4

Calculate Net Cash Flows from investing activities from the following informations :

31-03-2015 31-03-2016

Building (Written Down Value) 3 6,00,000 % 7,50,000

2210/(Set : C)
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Additional Informations :

(i) Building costing ¥ 1,00,000 on which ¥ 30,000 has accumulated as
depreciations was sold for ¥ 50,000.

(ii) Depreciation charged on building for the year ended 31-03-2016 X 50,000.
YqT
OR

‘foq ddddt fpamell @ Vae Jare’ & el 7 9af & 9 H] 3

Explain any three items of 'cash flow from financial activities'.

30. {7 Sife! @ a1 oYU iR i STu &1 ToFT &% 21 +21 =5
WA gt : 75,0002
SETEEE . 35,000 %
(20,000 % BT R & Ted |fea)
rﬁﬁ T : 10,000 ¥
Prashia gei : 60,0002

2210/(Set : C) P.T.O.



(20) 2210/(Set : C)

From the following data, calculate Current Ratio and Liquid Ratio :

Liquid Assets : % 75,000

Inventories : 3 35,000

(Includes loose tools at ¥ 20,000)

Prepaid Expenses : 310,000
Working Capital : % 60,000
AYAT
OR
g vaTe oo § 1 o™ © 7 T6e! el gy dIel & S ] 1+4=5

What is meant by Cash Flow Statement ? Mention any four limitations of it.

2210/(Set : C)



23. Al
(A)
(B)
(€)

(D)

Al

(A)

(B)

©)

(D)

(21)
{1 -9

PART - C
(FeiF i)

(Computerized Accounting)

: E2 THd H Hefiq &< § ¢

THIT 9fie IX SieH
T 9fie WX Ui

TR e & W AR o faegedl & S 8w
TR i WA & E 3 99 iR

: E2 in Excel refers to :

Column on Excel Sheet

Row on Excel Sheet

Cell between start and end point of Excel Sheet

Alphabets between A to E on Excel Sheet

2210/(Set : C)
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24, Frfaied & § BN FYOHd dEidT Tl B dH 78 & ¢ 1

(A) ool @ EHET & HROT ST @ AT 3G B Tl o
(B) 2er BT B o w@wr B

(C) e & fhEl & foTq Suered T8l AT S sl

(D) SR SR eTffdse RO S T8t @ o Tl o

Which of the following is not a limitation of Computerized Accounting System ?

(A) Data may be lost or corrupted due to power interruptions.
(B) Data is prone to hacking.
(C) Data is not made available to everybody.

(D) Unprogrammed and un-specified reports cannot be generated.

25. RU 1T FIA : FAFYT (A) T FRT (R) MR W F&7 oeeq & a7 e - 1

SRR (A) : T BY I IRW UM F [T TF AE B G WER B A F S&«d o
HHA Bl

HRO (R): T T =< § 10 § s APMT & daar 2

%
(A) SRR (A) €9 &, WG @R (R) A B
(B) SIRMREA (A) 3T &, T R (R) & B
(C) SIRERRA (A) 8TR BRI (R) AF T o, T BRY (R), ARERIT (A) B T&l AT el o
(D) SR (A) AR BRI (R) AT T8 2
2210/(Set : C)
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27.

(23) 2210/(Set : C)

On the basis of given Statements : Assertion (A) & Reason (R), choose the
correct option :

Assertion (A) : A chart can be changed to another type of chart to get different
look and purpose.

Reason (R) : A Pie chart can have more than 10 categories in it.

Option :
(A) Assertion (A) is true, but Reason (R) is false.
(B) Assertion (A) is false, but Reason (R) is true.

(C) Both Assertion (A) and Reason (R) are true, but Reason (R) is not correct

explanation of Assertion (4).

(D) Both Assertion (A) and Reason (R) are false.

M FYFT AQ@IHT IOl Bl AT A& 8, T I Folc HH ol I8 398 8§ B8l

SOTl A1 ey ? 1
(A) ST & U WER dfedy (B) TR dfeaay
(C) IT-AT AT (D) ST § & B2 ff TR, ol @ aFa 99E R

Ram wants to install a Computerized Accounting System, but his budget is low.

Which software he should opt for ?

(A) Ready to use Software (B) Customized Software
(C) Tailor-made Software (D) Buy any of above, all cost same
o fepeg & W @ &F A1 & @EY H qREdd w Hhd © 7 1

Using which option/view, we can change the look of a chart ?

2210/(Set : C) P.T.O.
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28. U °F TSl | AREE B 2

What is meant by Written Down Value Method ?

29. % & FT A B ? 38D BIE & AT B GO B 3

What is meant by Graph ? Explain any two advantages of it.

30. FYFT AGHT YOICl § T AR & P AP i OTCl IS HE FIv A
ERIEN 5

What is meant by Computerized Accounting System ? Give four advantages over
Manual Accounting System.

YqT

OR

frr=tieied ox fére fewell ot - 2
(@) SoElEs Brediie & [van

(b) Fordfich BiSsiic & STEN

Write short notes on the following :

(a) Features of Electronic Spreadsheet

(b) Application of Electronic Spreadsheet

2210/(Set : C)



CLASS : 12th (Sr. Secondary) Code No. 2210
Series : SS/Annual Exam.-2025

Roll No. SET : D

AT

ACCOUNTANCY
[ Hindi and English Medium |
ACADEMIC/OPEN
(Only for Fresh/Re-appear/Improvement/Additional Candidates)

Time allowed : 8 hours | [ Maximum Marks : 60

o PV AT B T ¥ 5T FoT-97 7 JRT JT 24 T §97 38 (22 + 8 + 8) &

Please make sure that the printed pages in this question paper are 24 in number
and it contains 38 (22 + 8 + 8) questions.

o Jo7-7H ¥ e & @ G RF T FS THT Tl f H OH FI-Yikaw F FEI-g8 9
gy

The Code No. and Set on the right side of the question paper should be written by
the candidate on the front page of the answer-book.

o FYF J9T H TV [TGT Y& V7§ Yeer, 9T B B AT [7E]

Before beginning to answer a question, its Serial Number must be written.
o FUT-YitTHE & = H @l §,/9 7 881

Don’t leave blank page/pages in your answer-book.

o FT-YRTHE B SIRFT FF o de Tel R o SEvIRagar & @ st frar Fav T
FIC]

Except answer-book, no extra sheet will be given. Write to the point and do not
strike the written answer.
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o TR T AT To JeT-UH G Haed [@ T To & SARFT FIT-YH YU o 8 A T
g siie defcy® 7ot & IR T Fbd ST F 9T T

Candidates must write their Roll No. on the question paper. Except Roll No. do not

write anything on question paper and don't make any mark on answers of objective

type questions.

o U F97 % FUT 37 @ {4 & GhlEd FY @ [ Fe7-0F {7 T 78 8, e # I 59
T 7 g 4 qar w&hHe T8 RAr aam

Before answering the questions, ensure that you have been supplied the correct and
complete question paper, no claim in this regard, will be entertained after
examination.

A 3T -
(i) T8 Fo7-97 T 9 7 e & -

G - 3 : @EERT B G FUT B T aGET
G - § : [FhT [[aee a7 fsavn

9T - T : FYNHT AGIHT

(i) T - oF Sffard &1 gEwef o7y s @ T - § T G- T T G FE T T ET
&Y/

(iii) TH 797 T TV &

(iv) 597 G 1 § 10 T 23 & 27 7% TGS F97 &1 9% 97 1 6% & &

(v) 597 Gear 11 & 15 797 28 GIfday Iaeid 597 &1 J9% J97 2 6/% & &

(vi) 97 & 16 @ 20 T 29 TF FGT Fo7 81 JAF o7 3 3% F &

(vii) F97 T&r 21, 22 797 30 § FFNT J97 81 H9F F97 5 9F P 81

(viii) B Fe7] & SiRE [ABeY S9r=y & 87 797 H & SAYH HaA G & 597 FA &1

General Instructions :
(i) This question paper is divided into three Parts :
Part - A : Accounting for Partnership Firms & Companies.

2210/(Set : D)
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Part - B : Analysis of Financial Statements.

Part - C : Computerized Accounting.

(i) Part — A is compulsory. Candidates have to attempt any one part from
Part - B and Part - C of their choice.

(iii) All questions are to be attempted.

(iv) Question Nos. 1 to 10 and 23 to 27 are objective type questions. Each
question carries 1 mark.

(v) Question Nos. 11 to 15 and 28 are very short answer type questions. Each
question carries 2 marks.

(Vi) Question Nos. 16 to 20 and 29 are short answer type questions. Each
question carries 3 marks.

(vii) Question Nos. 21, 22 and 30 are long answer type questions. Each question
carries 5 marks.

(viii) An internal choice is available in some questions. You have to attempt only
one of the given choice in such questions.

T - A
PART - A [M. M. :45
(e wut SR FutEt B R dwiE)
(Accounting for Partnership Firms & Companies)
1. ST &l e & &9 F HTH & ..o o B B 1
Shareholders get ............ as their return from the company.
2. dfuq aw Beg wed § 7 1

What are Accumulated Profits ?

2210/(Set : D) P.T.O.
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3. IR T WEER AN H FH THE A 8, A 39 N HERR SR e S 1
(A) T STgE A (B) F orgund H
(C) T ergur H (D) Uit oura &

If the new partner brings his share of goodwill in cash, it will be shared by old

partners in :
(A) Ratio of Sacrifice (B) Old Profit Sharing Ratio

(C) New Profit Sharing Ratio (D) Capital Ratio

4. B RO /Sl O S $ &Y iR TE el g o qed qn Y I H S
% RN & I W A B o, QE A oL SfUg el o 2 1

The debentures/securities on which the rate of interest is not specified, instead
the difference in sale price and purchase price works as interest, such securities

are known as ............ bonds.

5. “URaaWslid FOT9E”’ ¥ S F g9 & ° 1

What do you understand by "Convertible Debentures" ?

2210/(Set : D)
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6. 'A' TN B AW-B B T dfcd gL FH A AEER & 1 3B, 2024 F I qW-BM A
4 :3 % U ¥ dicd W HEWd g A e & STIU # UREeE & &ReT A & @

IR STET TR T feed BT : 1
(A) @ RT L (B) @M -

14 14

4 3
(C) wwﬁ; (D) = >

'A' and 'B' were partners in a firm sharing profit or loss equally. With effect from
1st April, 2024 they agreed to share profits in the ratio 4 : 3, due to change in

profit sharing ratio, A's gain or sacrifice will be :

(A) Gain 1 (B) Sacrifice 1
14 14
(C) Gain 4 (D) Sacrifice 3
7 7
7. U T FoA : IRFYT (A) T FRT (R) F SMEOR W F&7 aebed 1 a9 B - 1

ARBET (A) : TEER & T4 H A B H GEGT e, g QAT QRN H FHOE ol

FROT (R) : GEER & Sa9 & & A@EEN & Fed (Reconstitution) & Rrad 6 g
e R § T8 Wl & ol Th T8 EERr ARdd § o 8, Wy WA
g, &l B

% -

(A) S (A) IR R (R) AM1 T 8, WY R (R), AR (A) H T 2 T2l 2
(B) IR (A) R PR (R) A 9 & 3R BRT (R), SARES (A) H T8 e &
(C) SIRERIN (A) T HR (R) QT 19 B

(D) SIREREA (A) 3T &, T R (R) & B

2210/(Set : D) P.T.O.



(6) 2210/(Set : D)
On the basis of given Statements : Assertion (A) & Reason (R), choose the
correct option :

Assertion (A) : Admission of a partner does not mean the dissolution of the firm

but the dissolution of the old partnership.

Reason (R) : Admission of a partner means reconstitution of the partnership so
that the old partnership ceases to exist and a new partnership

comes into existence but the firm continuous.
Options :
(A) Both Assertion (A) and Reason (R) are true, but Reason (R) is not correct

explanation of Assertion (A).

(B) Both Assertion (A) and Reason (R) are true and Reason (R) is correct

explanation of Assertion (A).
(C) Both Assertion (A) and Reason (R) are false.

(D) Assertion (A) is false, but Reason (R) is true.

8. RU U HYA : BT (A) TN HXT (R) > IR W Fe [dheq & a8+ A} ¢ 1
AFIT (A) : TR & RO B TG G J SKIART el 61 S ol
PR (R) : EER § %O 06 a9 0 5, 30 GEERK & Gofl & M & a% 61 S

zl

e -
(A) SR (A) IR R (R) AMI T 5, W R (R), AR (A) H T & T2l 2
(B) IR (A) AR BRI (R) A1 9 8, AN BRI (R), SIRHN (A) P T =T B
(C) IR (A) §F &, T BV (R) A ol

(D) SR (A) 3THA 8, Tg FX (R) T ol

2210/(Set : D)
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On the basis of given Statements : Assertion (A) & Reason (R), choose the
correct option :

Assertion (A) : Loan from partner is not transferred to realization account.

Reason (R) : Loan from partner is a outside liability. It is paid after the payment
of partner's capital.

Options :

(A) Both Assertion (A) and Reason (R) are true, but Reason (R) is not correct

explanation of Assertion (4).

(B) Both Assertion (A) and Reason (R) are true, and Reason (R) is correct

explanation of Assertion (A).

(C) Assertion (A) is true, but Reason (R) is false.

(D) Assertion (A) is false, but Reason (R) is true.

9. R &l R e & ......... qer # R S 2 1
Debentures are shown on ............ side of the Balance Sheet.
10. SRR Toft B B 1
(A) sl o

(B) Ui wem
(C)  wrlr g5 el
(D)  AA g2 OSit &1 a8 9N S dad HUA B GG T & AT S Gl o

2210/(Set : D) P.T.O.
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Reserve Capital is :

(A) Subscribed Capital
(B) Reserve Capital

(C) Uncalled Capital

(D) Part of uncalled capital with may be called only at the time of liquidation of
the company

11. 31 A€, 2021 & 9« 8N 1 a¥ & (¢ SHN amd & STMel W) 5% dqlue & X 9
O HIT A IE TdF HIE & M H 5,000 T Ml 2

Calculate the interest on Drawing of Mr. Vaman @ 5% p.a. for the year ended

31st March, 2021. If he withdrew I 5,000 p.m. in the beginning of every month.

12. T B¥ & AEd @ 70,000 X 5, TEH 5,000 I P Th STEMN AH NS 3| Fa€E 7
faffa G5t 5,50,000 3 & @& @1 & WA & 10% 1 A ® AR A H SEX
ST &l T i 2

A firm average profit are ¥ 70,000, it includes an abnormal profit of ¥ 5,000.
Capital invested in the business is ¥ 5,50,000 and the normal rate of return is
10%. Calculate goodwill at four times the super profit.

YqT
OR

B3 @ S [ S AF-BM AT @A & hise d [l S 2

Name any two items which are shown on the credit of profit and loss
appropriation account.

2210/(Set : D)
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13. 'A' T 'B' HERK § S @t # 4 : 1 B U & adfed 2 'A'GTCIef%T\B{EH% T B
am%ri%@ab‘r% 'C' & U8 H WM HXJ & Sff A1 WERR 51 @R STUE SR Y STu

B ? 2

'A' and 'B' are partners sharing profit in the ratio of 4 : 1. 'A' surrenders %th of

his share and 'B' surrenders % of his share in favour of 'C', a new partner.

What is the sacrificing ratio and the new ratio ?
YqT
OR
T HERR] FH & S B AT i el @ gehl B gaEs S| 2

List any two factors affecting goodwill of a partnership firm.

14. GEEN 0@ S STuRdid § @6 89 arl dser) AT @ B @ el @ Swe
i 2

Mention any two provisions of the Partnership Act applicable in the absence of
Partnership Deed.

15. B9 & THYT qU7 9ERi & G99 | Hig @ oK T it 2

Clarify any two differences between dissolution of a firm and dissolution of

partnership.

2210/(Set : D) P.T.O.
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16. 'X o #¥H I 'y’ ffo FF & 9,90,000 B &id T HI TRl B9 HN TE A G5
& 100 T art 11% RO & FOHT & % o H A 61 ST 98 | & sores

(i) TE W, (ii) 10% Hfrem w® Frifra B e sawes s sfaftedr S 3

'X' Ltd. Company purchase assets of the book value of ¥ 9,90,000 from 'Y' Ltd.
Company. It was agreed that the purchase consideration be paid issuing 11%
Debentures of 100 ¥ each. Assume that the Debentures have been issued

(i) at par, (ii) at a premium of 10%. Do necessary journal entries.

17. 'A,'B, 'C' T D' TF FH ¥ T AEER 81 1 3B, 2023 & I Tol 9T 50,000 3,
30,000 %; 25,000 % @1 15,000 ¥ #ii 31 ¥, 2024 & TG ¥ % Q@A I€ HA &
USETq I8 U Il [ AERN §AE ® TR A & fade & g Gofl W 10% Sy @t
% e T H T 1 T8 A gU b o W T B, A H MEawdS dare Hiow 3

'A', 'B', 'C' and 'D' are equal partners in a firm. Their capitals on 1st April, 2023
were I 50,000; ¥ 30,000; ¥ 25,000 and % 15,000 respectively. After closing the
accounts for year ended 31st March, 2024 it was discovered that according to
the Partnership Deed interest @ 10% per annum on partner's capitals was not
provided before distribution of profit. Pass the necessary journal entry assuming

that the capitals are not fixed.

18. Il T fFH &Fed & ! I8 A oIk Wi § &Y [ 8 7 3

What is Realization Account ? How does it differ from Revaluation Account ?

2210/(Set : D)



19.

20.

21.

(11)
fr=iciiae o |eg el fofag ¢

(i) Sled gaifemrR i

(i) sl yaifeer st

(i) TR QElfepR S

Write short note on the following :
(i) Redeemable Preference Shares

(i) Cumulative Preference Shares

(iii) Participating Preference Shares

2210/(Set : D)
1x3=3

afe F& wERET 6,00,000 ¥; %A NG 1,00,000 I; TERE d fER @ o Wy

4,20,000 X T Il @G 5,000 T &, Tl Al @I T A/ Bl IO i

3

If total assets are I 6,00,000; total liabilities are I 1,00,000; amount realized on

sale of assets is I 4,20,000 and realization expenses are ¥ 5,000. Find out profit

or loss by making Realization A/c.

@I STYUIC T N W SO § 9 FA FEHA § 7 g9 A A X © ?

What do you understand by Sacrificing Ratio and Gaining Ratio ? What is the

difference between two ?

2210/(Set : D)

P.T.0O.
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Wﬁwaﬁﬁaﬁrﬁwﬁweﬁ,a‘rslq@m%wwaﬁgaﬁ?%%

SRRINI Halew®Y:

EREUES] 3 q 3
SRELS 65,900 | Awe 1,200
ol EECIESEIR 9,700
ST 30,000 | &% 20,000
AT 20,000 | @ic g A=A 35,000
T 50,000
1,15,900 1,15,900

1 3, 2024 H 77 9l IR IR AifNH B AHER S1 W B FoE R

(a) qﬁﬁzsrzﬁrwzméWWW@lS,OOO%i@ﬁ@T@OOO%Wﬁ%aﬁ

Rl

(b) b, @i Td HAF & G 10% HA {31 ST
() €T U B T 5% H TG q9@T S
(d) & B 20% AR Jedid BN

(€ 1,400% % fafwr @ & a9 ¥ (S fred § & Rmm @ 2))

() T B AR G AR ER e o S

9 e @I, ol Wl SR T EH H AW F el REny
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The following was the Balance Sheet of Anurag and Bhawna, who were sharing

profit in the ratio of % and % as at 31st March, 2024 :

Liabilities 4 Assets 4
Creditors 65,900 | Cash 1,200
Capitals : Sundry Debtors 9,700

Anurag 30,000 | Stock 20,000
Bhawna 20,000 | Plants & Machinery 35,000
Building 50,000

1,15,900 1,15,900

On 1st April, 2024 they agreed

following terms :

to admit Monika into partnership on the

(@) Monika was to be given % share in profits and was to bring ¥ 15,000 as

capital and ¥ 6,000 as share of goodwill.

(b) That the value of stock and plant & machinery were to be reduced by 10%.

() That a provision of 5% was to be created for doubtful debts.

(d) That the building account was to be appreciated by 20%.

() Investment worth ¥ 1,400 (not mentioned in the Balance Sheet) were to be

taken into account.

(f) That the amount of goodwill was to be withdrawn by the old partners.

Prepare the Revaluation A/c, Capital Account and Opening Balance Sheet of the

new firm.

2210/(Set : D)

P.T.0O.
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22, f=fatad w Gl fewelt g : 2%+2%=5

(a) ST @1 WM W

(b) SFU-IAREN TG Hfd-AREN

Write a short note on the following :
(@) Issue of Shares at Premium

(b) Under Subscription and Over Subscriptions

3TeE

OR

(2) I e 7 10 % A 800 Sisl & FIEYT AT, 9 WX 7.50 X 0l & g% ©, WY
AT I & 2.50 I Wi A WS TE g FTH ¥ 600 A B GO Febell A §T
56 YR g e mn {6 2,100 % IS d@e # swiana fRg T

AMEEH T dfaRedr R 2%

Ravi Ltd., forfeited 800 shares of ¥ 10 each % 7.50 paid, for non-payment of
final call of ¥ 2.50 per share. Out of these, 600 shares were re-issued as

fully paid up in such a way that ¥ 2,100 were transferred to capital reserve.

Pass necessary journal entries.

2210/(Set : D)
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(b) 'X' fif¥RE I 10 T g 800 i & YUY fpar, B W 7.50 T Wiy ofer O W E

AR TEF = F 2.50 X U A W T g I @ 600 A H 6 T A ST W
7.50 X Tl A gQ G:-FRT R T

MAESH T Ui 2

=

'X' Ltd., forfeited 800 shares of ¥ 10 each, ¥ 7.50 called-up, for non-
payment for first call of I 2.50 per share. Out of these, 600 shares were re-
issued for X 6 per share as X 7.50 paid up.

Pass necessary journal entries.
|l -9
PART - B [M.M.:15

( faci faaon @1 favqwo)
(Analysis of Financial Statements)

23. RU T FoFl : FHFYT (A) TN FRT (R) T TR W F&7 [9beq H T99 e 1
AR (A) : S6 F Rl T TR A6 T Vb A & WA BN AT T Bl B
PR (R) : 9% & Fapcl T8 R Ahs Jod B TRl A SO AT o
A%y :

(A) ST (A) R R (R) &M 9 &, 3K SR (R), ST (A) 3 T2 e 8
(B) S (A) IR BRYT (R) AMI & 8, W FR (R), SR (A) Hl T 2@ T2l 2
(C) SIBEN (A) TN BRI (R) AT STFH B

(D) SR (A) €9 &, T HRVT (R) A ol

2210/(Set : D) P.T.O.
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On the basis of given Statements : Assertion (A) & Reason (R), choose the
correct option :

Assertion (A) : Amount withdrawn from the bank does not affect the flow of
cash and cash equivalents.

Reason (R) : The amount withdrawn from the bank is a transaction between

cash and cash equivalent item.
Options :

(A) Both Assertion (A) and Reason (R) are true and Reason (R) is correct

explanation of Assertion (A).

(B) Both Assertion (A) and Reason (R) are true, but Reason (R) is not correct

explanation of Assertion (4).
(C) Both Assertion (A) and Reason (R) are false.

(D) Assertion (A) is true, but Reason (R) is false.

=T Slferel & YR W T w91 &RT 99 T A1 Sl aF1d enll e 1

AR €l 70,000 ; Sifem & 80,000 I; Efeh Afad A 6 0T

(A) 1,50,000% (B) 90,000%

(C) 4,50,000% (D) 4,80,000%

On the basis of following data, the cost of goods sold by a Company will be :

Opening Inventory I 70,000; Closing Inventory I 80,000; Stock Turnover Ratio 6

times.
(A) 1,50,000 (B) ¥ 90,000
(C) % 4,50,000 (D) % 4,80,000

2210/(Set : D)
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25. @G § oS Gol & AT 1 G © ¢ 1

What do you mean by Qualitative Information in Accounting ?

26. FU FH RAfT e ... ¥ RU T 9T & SFIER AR HIAT SRl B 1

Balance Sheet of a Company is required to be prepared in the format given

in ............ .

(A) Schedule II Part II
(B) Schedule III Part I
(C) Schedule III Part III

(D) Table (A)

2210/(Set : D) P.T.O.
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27, oo I el wH B DRI P & & 9§ gE e B B 1
(A) AT
(B)  fehamsiierar
(C) SMET-&HaT
(D) <raHeEdan
The ........... ratios provide the information critical to the long run payment

ability of the firm.

(A) Liquidity

(B) Activity

(C) Solvency

(D) Profitability

2210/(Set : D)



(19) 2210/(Set : D)
28. o faavel & #ig & ST df 2

Give any two uses of Financial Statements.

29. T G fraretl @ Vs wae’ & fhel @7 W&l & aue B 3

Explain any three items of 'cash flow from financial activities'.

e
OR

frefeie germmetl & fafEeT qedl Shareti |§ ks e & &Y ¢ 3
31-03-2015 31-03-2016

e (Tafred o) : 6,00,000 ¥ 7,50,000 %

SR G

(i) 1,00,000 ¥ TEE H F&9 PG X 30,000 I €Hfad 89 o1, 36 50,000 T § §9 f&0
e

(i) 31-03-2016 FH T & a@ a4 § Ha W 50,000 I € AT T4

2210/(Set : D) P.T.O.
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Calculate Net Cash Flows from investing activities from the following informations :
31-03-2015 31-03-2016

Building (Written Down Value) 3 6,00,000 % 7,50,000

Additional Informations :

(i) Building costing ¥ 1,00,000 on which ¥ 30,000 has accumulated as
depreciations was sold for ¥ 50,000.

(ii) Depreciation charged on building for the year ended 31-03-2016 X 50,000.

AHg YaTe [qaxor ¥ 1 oME B ? 3q fheel gIv Qs & Si@ i 1+4=5

What is meant by Cash Flow Statement ? Mention any four limitations of it.

Tgar

OR
et ofiepet | a1 ST IR SfE ST @ oM #Y 21 +21 =5
RGN IRD] . 75,000 %
Wi /el . 35,000%

2210/(Set : D)
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(20,000 % BIZ AR % g9 Afea)
tﬁﬁ Cp| : 10,000 %
Prashia Iei : 60,0002
From the following data, calculate Current Ratio and Liquid Ratio :
Liquid Assets : % 75,000
Inventories : ¥ 35,000

(Includes loose tools at ¥ 20,000)
Prepaid Expenses : 310,000

Working Capital : % 60,000

AT -9
PART - C [M.M.:15
(Fgedpa @)

(Computerized Accounting)

23. T FYAFA AGiHT YOl H AT = 8, g Sl 9 FH 21 W 570 & &HH-41

SOTl A1 ey ? 1
(A) ST & U WER Seday (B) TR Sifeaay
(C) }A-AT e (D) SWad ¥ § #g off i, aff A ara e B

2210/(Set : D) P.T.O.
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Ram wants to install a Computerized Accounting System, but his budget is low.
Which software he should opt for ?
(A) Ready to use Software (B) Customized Software

(C) Tailor-made Software (D) Buy any of above, all cost same

24. RU T FI : FAFYT (A) T FRT (R) & NI W F&7 [oeeq & o7+ e - 1

SARHHET (A) : I BU AN IRW U F [T Th A H g YER B A H qE«A o
HH B

RO (R): TF O a1 & 10 @ it ANwET & gt &
fawey -

(A) STRREE (A) €9 &, WG @R (R) A B

(B) IR (A) 3THA 8, TJ &N (R) T ol

(C) SIRERRA (A) STR HRVT (R) 3F T o, T BRY (R), ARERIT (A) B T&l AT el o
(D) 1@ (A) 3R SR (R) A1 19 2

On the basis of given Statements : Assertion (A) & Reason (R), choose the

correct option :

Assertion (A) : A chart can be changed to another type of chart to get different

look and purpose.

Reason (R) : A Pie chart can have more than 10 categories in it.

Option :

(A) Assertion (A) is true, but Reason (R) is false.

(B) Assertion (A) is false, but Reason (R) is true.

(C) Both Assertion (A) and Reason (R) are true, but Reason (R) is not correct
explanation of Assertion (A).

(D) Both Assertion (A) and Reason (R) are false.

2210/(Set : D)
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25. 59 fJhcs & TN @ &9 9K & @eY § gRaad #X 96 & 7 1

Using which option/view, we can change the look of a chart ?

26. Al
(A)
(B)
(€)
(D)
Al
(A)
(B)
©)
(D)

: E2 THd & Hefiq &3ar § ¢ 1

THT 9fie T HieH
THE 9fie WX Ui

TR e & W AR o faegedl & S ad
TR i WA § E 3 99 iR

: E2 in Excel refers to :

Column on Excel Sheet
Row on Excel Sheet
Cell between start and end point of Excel Sheet

Alphabets between A to E on Excel Sheet

27. Frefed & | I FYelHd ddidT Tl B €9 78 & ¢ 1

(A)
(B)
©)
(D)

fsTall 1 ST & HIROT SeT @l a1 3d & |l ol
S ST & g s@w B

S & [l % for Suctey & X ST B
HAFEITT o sifvfese RAE I &t & ST &l ol

Which of the following is not a limitation of Computerized Accounting System ?

(A)
(B)
(€)
(D)

Data may be lost or corrupted due to power interruptions.
Data is prone to hacking.
Data is not made available to everybody.

Unprogrammed and un-specified reports cannot be generated.
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28. JUfREd g Ui | & AR B 2
What is meant by Written Down Value Method ?

29. W% & T A & 7 3D B3 & A H A0 B 3
What is meant by Graph ? Explain any two advantages of it.

30. frffed w | feoeft R 21 +21 =5

(@) SoEis Breslie & [van
(b) IoFEld SSdie & ST

Write short notes on the following :
(a) Features of Electronic Spreadsheet

(b) Application of Electronic Spreadsheet

3TeE

OR

FYFA AEHT IOl § F A & ? AT Wi TONC H IR IHE &Y e
ERIEN 5

What is meant by Computerized Accounting System ? Give four advantages over
Manual Accounting System.
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